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xy(2x + 3y) — xy(x +y) = xp{(2x + 3y) = (x +y)}

= xy(x + 2y)
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(2x+1)2-(x-2)2

=2x+14+x-2)2x+1-x+2)

=(Bx-1)(x+3)

a=-1,b=3

SLa+3b=-1+9=28
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@ 2(3x+2) + (2x—1) (3x+2)
O 2x(2x+1) - 3(1 + 2x)

© (x+2)(x-1)-2(x+2)

® x*—4x+4
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@2Bx+2)+(2x-1)Bx+2) =(3x+2) (2x+ 1)
O 2x(2x+1)-3(1+2x) = (2x+ 1) (2x - 3)

® x+2)(x-1)-2(x+2)=(x+2)(x-3)
@x2-dx+4=(x-2)>

@ 2x%+Tx+6=(2x+3) (x+2)




4. (x-2)x2-3(x-2)x-10(x-2) & JsEslotA?

@) (x-2)(x-5) (x+2) @ (x-2) (x+5) (x+2)
® (x=2)(x=5)(x+3) @ (x=2)(x+5)(x-2)
® (x=2)(x+5)(x-3)
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A=x-2 2 A5
(x=2)x>=-3(x=2)x-10(x-2)
= Ax? - 3Ax - 10A

= A(x® - 3x - 10)
=A(x-5)(x+2)
=(x-2)(x=5)(x+2)
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x+2=X y-3=Y 2 g5
20x+2)2+2(y-3)%  2X*42r%
x+2)0-3) Xx¥
2X? - 4XY +2Y2 =0, (X-Y)?=0
X-Y=x+2-y+3=0
'.x—y=_5
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x(x+3)(x+4)(x-1)+p
= (2 +3x)(x2+3x-4)+p
X +3x=A 2 Agetd
A(A—4)+p=A2—4A+p
A2-4A+p=(A-2)?
Lp=22=4




7. ab-6a+5b—48 = 02 WSt A a, b O] =M Me=? (B
a>0,b>0)
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ab—6a+5b—-48 =0
b(a+5)—6a—48=0
b(a+5)-6(a+5)-18=0
(a+5)(b-6) =18
a>0,b>09°22 qa+5>5
(i)a+5=18b-6=1

a=13,b=7
(ii)a+5=9,b-6=2
a=4,b=28
(i) a+5=6,b-6=3
a=1,b=9
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D (x+y+2)(x-y+2) @ (x+y+z2)(x-y-2)
® (x-y+2)(x-y-2)

@ +y-2)(x-y-2)

@ (x+y-z)(x—-y+2z)

-2z +2 -y =(x-z7)>%-)2
=(x-z+y) (x-z-y)
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2 4+22—2x-3xy+3y+1
—x2—(3y+2)x+2%+3y+1
= x> - (@By+2)x+ (+ 1) +1)
=(@x-2y-1)(x-y-1)

(=D 4+ (1) =-2
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a’*b + ab* = ab(a + b) = 12

a® +b® = (a+b)® - 3ab(a + b) = 28
a+b=X, ab=Y = *|gs}HA

XY =12, X3 -3XY =28

L X=4Y=3

watA @2 4 b% = X2 - 2Y = 16 - 6 = 10 ©|c}.
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b=a+2c— V3ol a-b+2c= V3
o a? 4+ b? + 4c® — 2ab — 4bc + 4ca
=a? + (-b)? + (2¢)?
+ 2(a)(=b) + 2(=b)(2¢) + 2(2¢)(a)
= (a-b+2c)?
- (VB =3
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2-3y+1 Q1 A5AA| O] K7} x¥4-2x% -3xy+x-6y+2

A4)0] %017 ax + b OIth. a+ b O GLE FHA L.

X3 +2x2 - 3xy +x—6y+2
=x2(x+2)-3y(x+2) +x+2
=(x+2)(x>-3y+1)

et a=1, h=20]22
a+b=3o|t}




